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(i) 36 17 (i) 35 17 (i) 32 17 (iv) 33 17 (v) 34 17
[ : i : iii : iv - % :
20 20 20 20 20

1 4
2. 10— +4-
2 5

(i) 3-3 (ii) 3 (iii) 4-3 (iv) 2-3 (v) 1-3
16 16 16 16

16
: . .8 3
3. Find the missing value in — X =-
16 — 8
(i) > (ii) > (iii) ! (iv) > (v)
2 4 4 4
: . .9 9
4. Find the missing value in — =+ =-
14 — 7
(i) ; (i) : (iii) : (iv) > (v)
i) — (i) — (i) = (v) = (v) =
8 9 7 8
: . .13 221
5. Find the missing value in — X =—-
4 — 64
(0) 15 (i 17 (i) 17 (iv) 19 W) 17
i) — (i) — (i) — (iv) — (v) —
16 18 14 16 16
: . .19 266
6. Find the missing value in — =+ = —
13 — — 221
(0) 15 (i 17 (i) 17 (iv) 17 W) 19
i) — (i) — (i) — (iv) — (v) —
14 16 14 12 14
: o . 5 8
7. Find the missing value in9 — X =82 —
11 —— 11

(i) 8E (i) 8} (iii) 9l (iv) 8l (v) 9l
) 87 (i) 8 (i) 9° (iv) 8, (v) 9,

665

1
8. Find the missing value in13 — + = —
8 — 688

(i) 131—3 (ii) 13i (iii) 13E (iv) 131—1 (v) 13E
i T 1o i 5 (W T



9. Which of the following is true?

6 3 . 3 15 2 7
=— (iv) —+—-= (V) — +-—=8-
9 2 20 16 18 16
11 13 59 17 22 37 17 20 61
+ =1- (iv) X =2 (v) +-— =
7 12 84 10 15 75 8 13 104
1359 . 1 3 ) 8 18 143
(iii) 39— x19 =2 (iv) 36— -3 =40
1691 4 20 383 9 19 171
4
47
147
64

(i -1x-2 —at i 3 __4 __17 (i) _15
217 12 18 36 18
10. Which of the following is true?
32 19 10 . 23 19 1 .
(i) = =6- (i) -— — =2— (iii)
7 14 49 18 18 3
11. Which of the following is true?
. 9 2 173 . 4 5
(i) 36 +24 - =1 (ii) 28 X =
14 7 340 19 12
7 2 5
(v) 38— +4-—=34-
19 19 19
2
12. — X18 =
6 -
(i) 6 (ii) 5 (i) 7 (iv) 3 (v) 8
12
13. — +11=
13
(i) (ii) (iii) - (iv) 12 (v)
I 143 ! 143 " 145 WV 143 v
14
14. X20 =
3 -
. . . 278
(i) 94 (ii) (iii) 280 (iv) 56 (v) 3
12
15. +18 =
7
(i) 2 (ii) 2 (iii) (iv) (v) O
i 1 ii 19 iii iv 1 Y,
16. 11 - x1=
(i) >9 (ii) (iii) (iv) > (v) >
7 5 3
1
17. 9-— =4 =
16 -
(i) 14> (ii) (iii) 143 (iv) 14> (v)
i 62 i iii iv 64 v
2
18. 12 X — =
10 —
.14 .
(i) = (i) (iii) (iv) 2 (v) 4



19.

20.

21.

22.

23.

24.

25.

26.

5
20+ — =
16 —

(i) e5 (ii) 67 (iii)) 63 (iv) 64 (v) 61

17
4 X — =
16 —
(0) _19 (i _17 (i) _17 (iv) _15 W) _17
|4”6“|4|V4V2
19
4+-— =
7 -
(i) 28 (ii) 3 (iii) 4 (iv) 26 (v) 28
17 19 3 19 19
2
6X1— =
11 —
(i) 6 (ii) 2 (iii) 70 (iv) 78 (v) 89
3 11 11 11
1
10+10= =
5T —
(i) ° (ii) 22 (iii) 20 (iv) 20 (v) 20
I7II 21 ! 21 W 19V23
Which of the following is true?

.2 1 1 .. 5 6 8 .15 4 10 . 1 4 3
(i) + - = (i) + = (iii) = (iv) + =
5 5 5 9 18 9 19 6 19 2 14 14

Which of the following is true?

25 17 8 11 19 7 39 23 25 33 9_523

Oy X117ty W 5 =g =Tg (i) ggx15=2, W) 5

Which of the following is true?

. 3 7 67 . 6 10 73 . 3 3

(i) 30=+10-—— =317 (i) 35=+22-— =12 (iii) 22— +14
7 16 112 7 11 77 5 5

85

2 1
(v) 20-x17- =1
7 4 483
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